


O I O

"[A] = 2106
%%[ 0 -11 ! o 07

0 I O O

> 208 I 10[
0 oI

!
I 0 I 1

!
I

%-> [6 %
0 - =

0 O O

O 0 I I o I

10-Z

0 0= A = [1I O I&
(2) Let

AX = XX
-x 10

=> (- ME) = 21x O
= 0I 0 -11 - X I

=> -x(1 -x)) -2(1 -x) = 0

=> x,= 1
,
X1 = 2 ,

X3= -



(3) DX ,
= 1 :

|x- El = [20 % ]
& Xr= 2#[&
③ Xz = -

latel = 2 7 => x = [= ][ 20

=> A[X , Xe X3] = [X , Xu X] diag (1 , 2 ,

- 1)

Let [X , X 2 Xi] = P

=> A = Pdiag(1 , 2 , -1) - p-

= A = p(diag)" . p
+
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Cij = AzkBkj
-I

B (1 . 1) = 1

158x = (B)BX = BX
B (3 , 3) = 1

W
B (4 , 4) = 1 =>

B (6 . 6) = 1

B (7 , 7) = /

#3 (10 . 10) = 1

Ex=B (8 , 8) =


